

**BID TABULATION  
2026 ADA Curb Ramp Retrofit**

Item No.	Description	Quantity	Unit	Civil West LLC		TTE Inc.		D&D Concrete and Utilities	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization	1	LS	\$ 28,796.75	\$ 28,796.75	\$ 10,000.00	\$ 10,000.00	\$ 13,000.00	\$ 13,000.00
2	Temporary Protection and Direction of Traffic	1	LS	\$ 1,767.15	\$ 1,767.15	\$ 15,000.00	\$ 15,000.00	\$ 9,000.00	\$ 9,000.00
3	Inlet Protection, Type 3 (00280)	4	ES	\$ 25.50	\$ 102.00	\$ 400.00	\$ 1,600.00	\$ 100.00	\$ 400.00
4	General Excavation (00330)	11	CY	\$ 742.00	\$ 8,162.00	\$ 500.00	\$ 5,500.00	\$ 100.00	\$ 1,100.00
5	Aggregate Base (00641)	45	TN	\$ 154.09	\$ 6,934.05	\$ 115.00	\$ 5,175.00	\$ 80.00	\$ 3,600.00
6	Crushed Stone Path (00641)	500	SF	\$ 1.94	\$ 970.00	\$ 15.00	\$ 7,500.00	\$ 4.00	\$ 2,000.00
7	Level 2, 1/2-Inch Dense ACP (00744)	34	TN	\$ 240.35	\$ 8,171.90	\$ 350.00	\$ 11,900.00	\$ 400.00	\$ 13,600.00
8	Concrete Curb, Type A (00759)	137	LF	\$ 42.00	\$ 5,754.00	\$ 50.00	\$ 6,850.00	\$ 60.00	\$ 8,220.00
9	Concrete Curb, Type C (00759)	35	LF	\$ 36.75	\$ 1,286.25	\$ 50.00	\$ 1,750.00	\$ 60.00	\$ 2,100.00
10	Concrete Walks (00759)	873	SF	\$ 18.38	\$ 16,045.74	\$ 26.00	\$ 22,698.00	\$ 16.00	\$ 13,968.00
11	Concrete Islands (00759)	154	SF	\$ 18.80	\$ 2,895.20	\$ 20.00	\$ 3,080.00	\$ 21.00	\$ 3,234.00
12	Truncated Domes on New Surfaces (00759)	133	SF	\$ 35.00	\$ 4,655.00	\$ 55.00	\$ 7,315.00	\$ 50.00	\$ 6,650.00
13	Extra for New Curb Ramps (00759)	9	EA	\$ 604.63	\$ 5,441.67	\$ 500.00	\$ 4,500.00	\$ 2,000.00	\$ 18,000.00
14	Longitudinal Pavement Markings - Paint (00860)	400	LF	\$ 5.51	\$ 2,204.00	\$ 10.00	\$ 4,000.00	\$ 4.00	\$ 1,600.00
15	Pavement Bar, Type B-HS: Continental Crosswalk (00867)	504	SF	\$ 5.28	\$ 2,661.12	\$ 8.00	\$ 4,032.00	\$ 25.00	\$ 12,600.00
16	Pavement Bar, Type B-HS: Stop Bar (00867)	9	SF	\$ 17.60	\$ 158.40	\$ 50.00	\$ 450.00	\$ 30.00	\$ 270.00
17	Perforated Steel Square Tube Anchor Sign Supports (00930)	1	LS	\$ 1,018.60	\$ 1,018.60	\$ 300.00	\$ 300.00	\$ 5,000.00	\$ 5,000.00
18	Signs, Standard Sheeting, Extruded Aluminum (00940)	39	SF	\$ 24.20	\$ 943.80	\$ 75.00	\$ 2,925.00	\$ 60.00	\$ 2,340.00
				TOTAL:	\$ 97,967.63	TOTAL:	\$ 114,575.00	TOTAL:	\$ 116,682.00

Red text indicates there was a discrepancy between unit prices and extended amounts.

**BID TABULATION  
2026 ADA Curb Ramp Retrofit**

Item No.	Description	Quantity	Unit	Pacific Excavation Inc.		KNL Industries Inc.		Brown Contracting	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization	1	LS	\$ 14,646.00	\$ 14,646.00	\$ 5,000.00	\$ 5,000.00	\$ 12,000.00	\$ 12,000.00
2	Temporary Protection and Direction of Traffic	1	LS	\$ 10,502.00	\$ 10,502.00	\$ 10,000.00	\$ 10,000.00	\$ 8,073.00	\$ 8,073.00
3	Inlet Protection, Type 3 (00280)	4	ES	\$ 108.00	\$ 432.00	\$ 100.00	\$ 400.00	\$ 80.00	\$ 320.00
4	General Excavation (00330)	11	CY	\$ 775.00	\$ 8,525.00	\$ 100.00	\$ 1,100.00	\$ 423.00	\$ 4,653.00
5	Aggregate Base (00641)	45	TN	\$ 128.00	\$ 5,760.00	\$ 100.00	\$ 4,500.00	\$ 155.00	\$ 6,975.00
6	Crushed Stone Path (00641)	500	SF	\$ 6.00	\$ 3,000.00	\$ 5.00	\$ 2,500.00	\$ 7.00	\$ 3,500.00
7	Level 2, 1/2-Inch Dense ACP (00744)	34	TN	\$ 425.00	\$ 14,450.00	\$ 300.00	\$ 10,200.00	\$ 420.00	\$ 14,280.00
8	Concrete Curb, Type A (00759)	137	LF	\$ 61.00	\$ 8,357.00	\$ 50.00	\$ 6,850.00	\$ 55.00	\$ 7,535.00
9	Concrete Curb, Type C (00759)	35	LF	\$ 53.00	\$ 1,855.00	\$ 50.00	\$ 1,750.00	\$ 80.00	\$ 2,800.00
10	Concrete Walks (00759)	873	SF	\$ 19.00	\$ 16,587.00	\$ 50.00	\$ 43,650.00	\$ 25.00	\$ 21,825.00
11	Concrete Islands (00759)	154	SF	\$ 29.00	\$ 4,466.00	\$ 20.00	\$ 3,080.00	\$ 38.00	\$ 5,852.00
12	Truncated Domes on New Surfaces (00759)	133	SF	\$ 47.00	\$ 6,251.00	\$ 40.00	\$ 5,320.00	\$ 40.00	\$ 5,320.00
13	Extra for New Curb Ramps (00759)	9	EA	\$ 554.00	\$ 4,986.00	\$ 1,000.00	\$ 9,000.00	\$ 1,500.00	\$ 13,500.00
14	Longitudinal Pavement Markings - Paint (00860)	400	LF	\$ 4.00	\$ 1,600.00	\$ 4.50	\$ 1,800.00	\$ 4.00	\$ 1,600.00
15	Pavement Bar, Type B-HS: Continental Crosswalk (00867)	504	SF	\$ 26.00	\$ 13,104.00	\$ 21.50	\$ 10,836.00	\$ 20.00	\$ 10,080.00
16	Pavement Bar, Type B-HS: Stop Bar (00867)	9	SF	\$ 30.00	\$ 270.00	\$ 25.00	\$ 225.00	\$ 35.00	\$ 315.00
17	Perforated Steel Square Tube Anchor Sign Supports (00930)	1	LS	\$ 3,504.00	\$ 3,504.00	\$ 3,500.00	\$ 3,500.00	\$ 3,700.00	\$ 3,700.00
18	Signs, Standard Sheeting, Extruded Aluminum (00940)	39	SF	\$ 60.00	\$ 2,340.00	\$ 100.00	\$ 3,900.00	\$ 40.00	\$ 1,560.00
				TOTAL:	\$ 120,635.00	TOTAL:	\$ 123,611.00	TOTAL:	\$ 123,888.00

Red text indicates there was a discrepancy between unit prices and extended amounts.

**BID TABULATION  
2026 ADA Curb Ramp Retrofit**

Item No.	Description	Quantity	Unit	Turney Excavating Inc.		Lee Contractors		SLE, Inc.	
				Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization	1	LS	\$ 22,500.00	\$ 22,500.00	\$ 13,000.00	\$ 13,000.00	\$ 10,665.00	\$ 10,665.00
2	Temporary Protection and Direction of Traffic	1	LS	\$ 5,500.00	\$ 5,500.00	\$ 20,400.00	\$ 20,400.00	\$ 5,045.00	\$ 5,045.00
3	Inlet Protection, Type 3 (00280)	4	ES	\$ 110.00	\$ 440.00	\$ 500.00	\$ 2,000.00	\$ 118.00	\$ 472.00
4	General Excavation (00330)	11	CY	\$ 450.00	\$ 4,950.00	\$ 528.00	\$ 5,808.00	\$ 1,450.00	\$ 15,950.00
5	Aggregate Base (00641)	45	TN	\$ 125.00	\$ 5,625.00	\$ 234.00	\$ 10,530.00	\$ 241.00	\$ 10,845.00
6	Crushed Stone Path (00641)	500	SF	\$ 6.00	\$ 3,000.00	\$ 1.00	\$ 500.00	\$ 15.00	\$ 7,500.00
7	Level 2, 1/2-Inch Dense ACP (00744)	34	TN	\$ 275.00	\$ 9,350.00	\$ 102.00	\$ 3,468.00	\$ 435.50	\$ 14,807.00
8	Concrete Curb, Type A (00759)	137	LF	\$ 63.75	\$ 8,733.75	\$ 151.00	\$ 20,687.00	\$ 68.00	\$ 9,316.00
9	Concrete Curb, Type C (00759)	35	LF	\$ 63.75	\$ 2,231.25	\$ 146.00	\$ 5,110.00	\$ 60.50	\$ 2,117.50
10	Concrete Walks (00759)	873	SF	\$ 25.75	\$ 22,479.75	\$ 10.00	\$ 8,730.00	\$ 29.00	\$ 25,317.00
11	Concrete Islands (00759)	154	SF	\$ 30.75	\$ 4,735.50	\$ 96.00	\$ 14,784.00	\$ 46.50	\$ 7,161.00
12	Truncated Domes on New Surfaces (00759)	133	SF	\$ 40.50	\$ 5,386.50	\$ 94.00	\$ 12,502.00	\$ 36.00	\$ 4,788.00
13	Extra for New Curb Ramps (00759)	9	EA	\$ 1,500.00	\$ 13,500.00	\$ 25.00	\$ 225.00	\$ 2,219.00	\$ 19,971.00
14	Longitudinal Pavement Markings - Paint (00860)	400	LF	\$ 2.00	\$ 800.00	\$ 5.00	\$ 2,000.00	\$ 4.25	\$ 1,700.00
15	Pavement Bar, Type B-HS: Continental Crosswalk (00867)	504	SF	\$ 19.50	\$ 9,828.00	\$ 20.00	\$ 10,080.00	\$ 26.00	\$ 13,104.00
16	Pavement Bar, Type B-HS: Stop Bar (00867)	9	SF	\$ 18.75	\$ 168.75	\$ 60.00	\$ 540.00	\$ 30.25	\$ 272.25
17	Perforated Steel Square Tube Anchor Sign Supports (00930)	1	LS	\$ 3,500.00	\$ 3,500.00	\$ 2,000.00	\$ 2,000.00	\$ 2,941.00	\$ 2,941.00
18	Signs, Standard Sheeting, Extruded Aluminum (00940)	39	SF	\$ 38.50	\$ 1,501.50	\$ 50.00	\$ 1,950.00	\$ 7.60	\$ 296.40
				TOTAL:	\$ 124,230.00	TOTAL:	\$ 134,314.00	TOTAL:	\$ 152,268.15

**Red text** indicates there was a discrepancy between unit prices and extended amounts.

**BID TABULATION  
2026 ADA Curb Ramp Retrofit**

Item No.	Description	Quantity	Unit	Alpha Environmental Services		Knife River Corp NW	
				Unit Price	Total	Unit Price	Total
1	Mobilization	1	LS	\$ 10,550.00	\$ 10,550.00	\$ 20,795.00	\$ 20,795.00
2	Temporary Protection and Direction of Traffic	1	LS	\$ 17,500.00	\$ 17,500.00	\$ 9,636.00	\$ 9,636.00
3	Inlet Protection, Type 3 (00280)	4	ES	\$ 302.50	\$ 1,210.00	\$ 250.00	\$ 1,000.00
4	General Excavation (00330)	11	CY	\$ 582.00	\$ 6,402.00	\$ 449.00	\$ 4,939.00
5	Aggregate Base (00641)	45	TN	\$ 113.06	\$ 5,087.70	\$ 162.90	\$ 7,330.50
6	Crushed Stone Path (00641)	500	SF	\$ 6.49	\$ 3,245.00	\$ 9.80	\$ 4,900.00
7	Level 2, 1/2-Inch Dense ACP (00744)	34	TN	\$ 428.24	\$ 14,560.16	\$ 501.60	\$ 17,054.40
8	Concrete Curb, Type A (00759)	137	LF	\$ 174.00	\$ 23,838.00	\$ 130.60	\$ 17,892.20
9	Concrete Curb, Type C (00759)	35	LF	\$ 186.00	\$ 6,510.00	\$ 169.00	\$ 5,915.00
10	Concrete Walks (00759)	873	SF	\$ 39.00	\$ 34,047.00	\$ 31.80	\$ 27,761.40
11	Concrete Islands (00759)	154	SF	\$ 52.00	\$ 8,008.00	\$ 38.20	\$ 5,882.80
12	Truncated Domes on New Surfaces (00759)	133	SF	\$ 105.00	\$ 13,965.00	\$ 54.80	\$ 7,288.40
13	Extra for New Curb Ramps (00759)	9	EA	\$ 117.00	\$ 1,053.00	\$ 1,887.70	\$ 16,989.30
14	Longitudinal Pavement Markings - Paint (00860)	400	LF	\$ 6.78	\$ 2,712.00	\$ 1.96	\$ 784.00
15	Pavement Bar, Type B-HS: Continental Crosswalk (00867)	504	SF	\$ 15.68	\$ 7,902.72	\$ 19.90	\$ 10,029.60
16	Pavement Bar, Type B-HS: Stop Bar (00867)	9	SF	\$ 27.87	\$ 250.83	\$ 19.50	\$ 175.50
17	Perforated Steel Square Tube Anchor Sign Supports (00930)	1	LS	\$ 6,050.00	\$ 6,050.00	\$ 10,300.00	\$ 10,300.00
18	Signs, Standard Sheeting, Extruded Aluminum (00940)	39	SF	\$ 89.56	\$ 3,492.84	\$ 50.10	\$ 1,953.90
				TOTAL:	\$ 166,384.25	TOTAL:	\$ 170,627.00

Red text indicates there was a discrepancy between unit prices and extended amounts.